_EROB.  15-17!

D We=5 42 ), Vpw=342

Mﬁ\% O=60° BID Qp

DL;; S5 G, Oy + Uops ¢ 0
MA‘ Gy =y s “Ws e Tz
—\Ff/ﬁ (\ S%Swééa)o k(m¢o)4 = 162)¢ F (é?ﬁ)y
Oy == CTUDE + G29){ |

Qy = [ Lﬁs)[, i) S

Qo/re ,)7/1 £ xTy ~ U Ty

Vp/g = (% o5 6o >c HE5d60°){ = (1) +(4913)" !
Uopps == (3 L(4) % ¢ (6929) |

Uops = (36)8 + (-6235) ] %

Q. = 2W £ x Upseg

e

-y P L J{
U‘p/,%g = (’\) BD ¥ x (\P/ﬁ = O

S
o W 7

4 6,929

=[o-CYers)( & ~[o- (3] {

GP/% = (‘ 20,7‘3>3 1 (\2)j ’l";&




~-20,7% (2~ Q

=[0 - (-0) 1)1+ =)0~ (1o)-2078)( 4

.
(5

@Q = ([7—O> t 4/(2071‘6’3\2\ pr

a, - ((415)8 + (-173.2) ] +(=36)¢ + (6235
+(20)t + (207.5) ¢

L_QLD = (‘3‘?(>£ 1 ("'17.75>j) Q:T/},\\"‘(%%(zzk = L{(gg?"

Ay = 392 53 4 407




